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1 —fa = — 1
B ER = x ’EU/J\aEﬁH%TEx-lzzm
l N 7 > =
6x+§:18x ......... R AR A=

2 s o .
8rx 2 =12v. .. PERAE P =

12x+%x=36(:§z) » HEC o
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<figtfr>

AL 8 Ry x - TAr80E 4 > HEELR40+x
(40 + x)* = (40 + x) x 45+ 94

1600 +80x + x> =1800+45x + 94
x?+35x-294=0
(x—7)(x+42)=0

x=78x=—42(F5)
WAL AFETF 47 % > BED -

INTERNATIONAL MATHEMATICS CONTEST(TAIWAN) E1H/MALSH




3. EEREERYHEREER - BT AESE S FCFR PR - B EEEET R ERIItLES
15 Blks > ToRBRIIEGRE 7 19 77 - xR EEEES 57500 7T > AITSEERV-FH95
#3157 (A)10 (B)7 (C)4 (D)1

<figtfr> . HY; | wE | &

Bl xts - By FFI5-(x+0) 5 A vIN

3x+15—(x+y)=19 ﬁjﬁ)j 3 1 0

7500x +3500{15— (x + 1)]+1000y = 57500 &t/ A\) | 7500 | 3500 | 1000
S.x=50 y=6

P F=15-(5+6)=4 » 3 C -

4, E%D%Eé&%ﬁa] +a,+a;+....+a, EF‘ ’ %as -a,=24’a,—-a;=138" H % AR B4R/ Ry 2772 »
Hlla,=? (A)18 (B)12 (C)6 (D)-10
<figetfr>
(EE NI T
Vag—a,=(a,+7d)—(a,+3d)=24 > 4d =24 > d =6
Ha, —a,=[a,+(n—1)x6]—(a, +4x6) =138 > n=28
_ 28[2a, +(28-1)x 6]

U8, =2772 0 Sy = : =2772 > a, =18

BEA

5. If va®+2005 is positive integer, then what is the sum of all the possible values of a which
satisfies the condition? (a must be positive integer) (A)396 (B)1002 (C)1200 (D)2004

<FEE> G Va® +2005 ZIEREE > RIFTKim e i IR 528 a HYRIRy(a]?
<HH>
Va® +2005 =b—>a’ +2005=b"—>b*> —a’ = 2005
(b+a)(b—a) =2005=2005x1=401x5

b+a=2005 b+a=401
{b_azl .)(a,b):(1002,1003)§{b_a:5
SO IR a IYAI=1002+198=1200 - % C -

> (a,b) = (198,203)

6. Subtract 100 from its % , and then subtract % of the remaining.... etc. Until ﬁ of the
remaining is subtracted. What is the final number? (A)0 (B)1 (C)2 (D)3

<&IEE>KE 100 ;‘@Z%EE’\J% ’ Ei@iiiﬁﬂ?ﬂ’ﬂ% ' DUBETEHE - EEURCEFR NHY 1 (1)0 B3t d
SEEE :
<fifir>
1 1 1 123 99 1
100+ (1=2) (1= ) er (=) =100+ 22 =100+ =1
HEB o
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7. WIAE > BD:CD=3:2 » AE:ED=3:1 > H|/AABE : AABC= °
(A)3:10 (B)9:20 (C)8:15 (D)7:18

<figtfr>

(1)AABD:AABC = BD:BC =3:5

(9)AABE:AABD = AE: AD=3:4

"+ AABE : AABD : AABC =9:12:20

. AABE:AABC=9:20 , 3 B

8. TEHIE%EIa b ciE (a+b)b+c)c+a)=0 H abe<0 » EIJ E’j{EE o

(A)-1 (B)0 (C)1 (D)2

<figetfr>

(1)a+b=0 2 b+c=0 =¥, c+ta=0—a ~ b ~ ¢ /b 2 {H G FHRE

(2)abe<0—>a ~ b~ c P 2 E 1 & .'.ﬁ+%+ﬁ:1 BEC
a C
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1. /NI %T AR - NEFINEREZE 1 & 0 > FrfsEIHyH1 Ry 15823 » [a{E R
I/ DE 1 0 > FrfFEIHYA1 R 181 » AIIEMERIRIEF

<fifr>

e & Ry x > INELEy y

x+10y =15823

{x+0.1y=181

..9.9y=15642 * »=1580

x+1580x10=15823 * x=23

Cox+y=1580+23=1603

2. qnbE - VER MERINEITIAZIEA BB E RS T » HEE WM E AEE—
B HEEETERIETES 2 AB=20 > AlEEETIMNREERS -

<S> )

B RITIPHIR R » Hh(x-2)

(2x)* +(2x+x-2)> =20°

4x* +9x* —12x+4 =400

13x2 -12x-396=0
(13x+66)(x—6) =0

.-.x:@x:_%(xé\) : 5
BT Eifli=6x4=24
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3. In AABC, pointM, N, P are the midpoint of BC, CA, AB respectively, if S,,,. =20, then
what is the area of AMNP? :

<EHE>TE=MZABCH » BEM, N, Py R = =#8BC, CA, ABHYHE: » IR=AF

ABCHYEIFE/Z20 » R = MNPHYHEE £ °

<fEAr>

AR M~ N~ P RrpRE > R =M iR tE Y 4 BE

%USMNP%AABCX%ZSO

4. o (E—ERF AR ELAE o M58 2 RORVERE - AT DA (3] 25 T HAE 3

POl AR5 151 37 555 ... » L B RS ] Bl G S ] i 0 e (5 > TR
AEpS ERRIS S x(PD) |2 |3 |5 |10
FEBERE y(R) 25371617
ot BREFE 10 70 RITA] DAk Hﬁ%ﬁé’&ﬁb X e
<fEtfr>
(2,25~ 3, 3D A y=ax+b
25=2a+b
{37 —3a+b
S.a=12 0 b=1

Coy=12x+1{8 A x=10
y=12x10+1=121 » $75ERE R 121 2K

5. FHa+b+c=11, ab+bc+ac=38, Hla>+b*+c? =
<fet>

a’+b’>+c* =(a+b+c)* —2(ab+bc+ac)=11>-2x38=121-76 =45

6. /INTRIBAEE R Hofth 4 #A[EIEREE 6 A - SEEEEHHIRBAE > = KRFaH - FHKER
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<fgh>

305171819 |11]12]13]15]16
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a | a, | a3 | a, | ds | g | Ay | Qg | Qg | Gy
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a,=a;,x0+2=5=4x1+1
as=a;x1+2=9=4x2+1
ag =a;x2+2=13=4x3+1

Aypy = a3 x673+2=4%x674+1=2697 ©
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<fig>
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<fihiT> 3
B e = fRAVE: 4, 8, 12,...... #hiE 4 HUEEL
MALFSEETUSRIRAVEL 5, 9, 13... &R E 4k+1 1Y 15 14
4 PEIEESE 4 (A% FrLL 4k+1(k=1, 2, 3.4, )8 o jo
PMEFVUEIR - N I
S5=4k+1 > k=1{IEEQ,-1) .
9=4k+1 > k=2(IEFE(3, -2) A .
11=4k+1 > k=3{IETE®4, -3) 8
Hilak +17985 » HATE K], -k) » 1001=4k+1 » Erf k=250
4 k=250 > BI1E(k+1, -k)=(251, -250)

(251, -250)
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<fihfr>

neN

Wn=3k(k=1,2,...... Y= n?=9k* » 9k* =315 0

@n=3k+1(k=0,1,2,...... Y= n? =9k +6k+1 > (9k* +6k+1)+36F 1

n=3k+2(k=0,1,2,...... Y= n? =9k +12k+4 > (9k> +12k+4)+365 1

RT3~ ER 05 1
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